


m=FE AN

>>t=[1357]; %2 =7|w
>>5=[2468]; %4 = 7w

>>1(3)=2 > t=[1327]
>>1(6)=50 > t=[1327050]
>>5(2)*5+t(4) > ans=27
>>1(2:5)-1 > ans=216-1
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>>A=[1234;5678:9101112] % i = 3*44EE A
A=

9 10 11 12

>>A(2,3)=100 % "2, AHlc T3, 4D (T
A=

6 100 8
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>> B =A(3,1:3)
B =

9 10 11
S>AC2 =0 %AFELE - (T

7, o [ & F )

A=

1 3 4

100 8
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>>A=[A;432]
A =

1 3 4

5 100 8

9 11 12

4 3 2
>> C = ones(2,3) % ' zeros | * ;7 e
C=



\

FEfEEARRA &3

>>A=[12 3;2 4 6];
>>B=[12 3;1 2 3],
>>A.*B

WELAJEEBR cha % £ A 495k

ans =

1 4 9

2 8 18
>>A./B NAHELAGSI~ % L p g MAELBS~ %
ans =



& A2 R AR




function &%

function output = test(t)

output = 5*t + 10;

% test ELfFE T8

% t EZEE?J* o} [Bly

% output ?EﬁET]H g (- EE [ output)
% EET]H Aty By 5*t+10

>>y = test([1 3 5])
y —
15 25 35
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y=abs(x) SafF Bl 9T Sk IV

y=min (x) [HJ | xfITe S pofe ] il

y=max(x) [FIJE [T S et~ fil

y=mean(x) [ngﬁixp Sh= N R

y=sort(x) S BIXAUT SRIE T ERET

y=length (x) [ﬂj BIXPUT S (HE

y=sum(x) RIEDGEERE S

zeros(m,n) B A Eim*npvAI - A ’?‘/7%57‘» = £50
ones(m,n) & 4 RER B m npuRIE > A J;iwat 2 1

|




Practice

>>n=[-25:25];

>>W=0*i;
>>X_n=cos(w*n);
>>stem(n,x_n,".")
>>title("x[n]=cos(2*n*pi)")
>>xlabel('n")
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